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QUESTION 38 
Refer to the exhibit. You configure a vPC between two Cisco Nexus 7000 Series switches but the peer link will not 
come up. What is the problem? 

 
 

A. The configuration is correct. The problem lies elsewhere. 

B. The vPC domain numbers must be different. 

C. The role priority must be the same. 

D. The system priority must be the same. 

 
Answer: D 
Explanation: 
https://www.cisco.com/c/en/us/products/collateral/switches/nexus-5000-series-switches/configuration_guide_c07-
543563.html 
 
QUESTION 39 
You are configuring a Cisco Nexus 9000 Series Switch. Which configuration can be implemented for VXLAN BGP 
EVPN? 
 

A. VXLAN BGP EVPN by using an NVE interface in a default VRF 

B. RACLs on the Layer 3 uplinks for the VXLAN traffic 

C. QoS classification for the VXLAN traffic on all of the interfaces 

D. DHCP snooping on the VXLAN VLANs 
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Answer: A 
Explanation: 
https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/93x/vxlan/configuration/guide/b-cisco-nexus-
9000-series-nx-os-vxlan-configuration-guide-93x/b-cisco-nexus-9000- series-nx-os-vxlan-configuration-guide-
93x_chapter_0101.html 
 
QUESTION 40 
Refer to the exhibit. The VXLAN configuration fails. 
Which action do you take to resolve the issue? 

 
 

A. Change the multicast address in the 232.0.0.0/8 range. 

B. Change the mask of loopback1 to 255.255.255.255. 

C. Use a transit interface as the source interface. 

D. Enable dense mode on loopback1. 

 
Answer: B 
 
QUESTION 41 
Refer to the exhibit. The HSRP instance on both switches is showing as active. 
Which action resolves the issue? 
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A. Configure the HSRP timers to be the same. 

B. Allow VLAN 100 between the switches. 

C. Configure the IP address of N9K-B on the same subnet as N9K-A. 

D. Configure preempt on only one of the switches. 

 
Answer: B 
 
QUESTION 42 
An engineer is troubleshooting a fabric discovery failure. Which two requirements must an engineer verify about switch 
connectivity to solve the problem? (Choose two.) 
 

A. A Cisco APIC must be attached to a spine node only. 

B. A Cisco APIC must be attached to leaf nodes. 

C. Spine nodes must connect to other spine nodes. 

D. A Cisco APIC must be dual-attached to two separate spine nodes. 

E. Leaf nodes must connect to spine nodes only. 

 
Answer: BE 
 
QUESTION 43 
Refer to the exhibit. A network engineer has connected the Nexus switch management port to the Internet using DHCP 
to allow the Guest shell running on the switch to download Python packages. The engineer can ping google.com 
successfully from the Nexus switch, but the Guest shell failed to download any Python packages. Which action resolves 
the problem? 
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A. Update the Python packages on the Cisco Nexus switch directly. 

B. Manually configure DNS in the Guest shell, even if it is claimed on the Cisco Nexus switch 
through DHCP. 

C. Manually configure NTP in the Guest shell. 

D. Connect Guest shell to data plane interfaces to be able to connect to the networks outside the 
Cisco Nexus switch. 

 
Answer: B 
 
QUESTION 44 
Refer to the exhibit. vPC between switch1 and switch2 is not working. 
Which two actions are needed to fix the problem? (Choose two.) 
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A. Match vPC domain ID between the two devices. 

B. Configure IP address on the interface. 

C. Activate VLANs on the vPC. 

D. Configure vPC peer link and vPC peer keepalive correctly. 

E. Configure one of the switches as primary for the vPC. 

 
Answer: AC 
 
QUESTION 45 
Refer to the exhibit. Sw1 and Sw2 are two Cisco Nexus 9000 Series Switches that run Cisco NX-OS. They are VTEPs 
in the same vPC domain. 
Which statement describes what happens in this scenario? 
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A. Sw1 drops all traffic because there is no (S, G) OIF list to encapsulate VXLAN multicast packets 
and send them out to the underlay network through the uplink interfaces. 

B. Sw1 performs the VxLAN multicast encapsulation and decapsulation for all traffic associated with 
the VxLAN VNIs. 

C. Sw1 and switch 2 perform the VxLAN multicast encapsulation and decapsulation for all traffic 
associated with the VxLAN VNIs, depending on the hashing. 

D. Sw2 did not send an IP PIM register to the rendezvous point for the multicast group of the VXLAN 
VNI. 

 
Answer: B 
 
QUESTION 46 
A customer configures HSRP between two data centers that are interconnected with OTV. The configuration succeeds, 
but traffic between two ESXi virtual hosts on the same site is routed suboptimally through the OTV overlay. Which two 
actions optimize the traffic? (Choose two.) 
 

A. Disable first-hop redundancy. 

B. Filter HSRP traffic by using a Layer 3 VACL on the OTV edge devices. 

C. Filter HSRP by using a Layer 2 MAC-list on the ESXi vSwitch. 

D. Filter HSRP traffic by using a Layer 3 VACL on the ESXi vSwitch. 

E. Filter HSRP by using a Layer 2 MAC-list on the OTV edge devices. 

 
Answer: AB 
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QUESTION 47 
An engineer removes a VMM domain from an endpoint group called EPG-1, but the distributed port group fails to be 
deleted. Which action must be taken to resolve the issue? 
 

A. Remove the port group manually. 

B. Migrate all virtual machines in the EPG-1 to different hypervisors. 

C. Remove the remaining EPGs from the VMM domain. 

D. Migrate all virtual machines in the EPG-1 to different port groups. 

 
Answer: C 
 
QUESTION 48 
After removing a VMM domain from an EPG, you discover that the associated virtual port groups remain in the VMware 
vCenter configuration. What causes the virtual port groups to persist in the configuration? 
 

A. The MAC addresses that are learned by the ports of the spine switches are incorrect. 

B. The port groups are being used by a virtual machine network adapter. 

C. The MAC addresses that are learned by the ports of the leaf switches are incorrect 

D. There is a mismatch between the data center name in vCenter and the VMM controller policy. 

 
Answer: B 
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